If x-2y=10, v=r+1, ond z = 1, what is the value

of 7

A) 12
By 14
) 16
L

2x+by=ld
ax +hy =T

If the system of equutions shave hos only one
eotuleoa, which of the following coold be the values
of aand b7

Ay g=land b =3
Br a=2apd b=156
C) ¢=3ond b=8§

I g=dmd b=12

A st phone company plass to produce and sell p
smani phones. The cost of producing p phones 15
given by 265 0 = 150 in dallars. The company
receives 3400 oo the sabe of each phone, 5o the
revente for selling p phones is given by 4p. For

whad valos of p s the revemmne equal o the cost?

A} 500
B} E40
Cy 10nd)
Dy 12t

Which of the [oflowing 15 equivalent ta the
capreasion abovee?

A) .43+L*

i

5 0
H-} o +T—:
i

e |
£} & =Za+—
-3

. |
M e +iv—
]

EX
Ja' =a+d =2

If o is @ posisve nuamber i the squation above, what
is the value of o?

A) 10

B} %

C) 4

oy ]

245214
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In the xy-plane shove, line £ 15 perpendicular o line
e, What is the value of &7

Al -1
By -2
Cy =3
[} —4.5

IF dep m 20= o, whind is the average (aribmetic mean)
of a, f, snd ¢ interms of af

iy
Al

1
Bl Za
oy P

3
Dy o

The figure above shows a regular bexagon, If the
length of AB is 4, what is the areq of the hexapon?

A) 2

By 2443
C) ‘32

by 323

e
4

y=r —4

y=2x+h

. 3
=

T /
In the xv-plane abowve, twio graphs inkersect &t Two
pointz. What is the value of &7

A |
B) 2
Ch 3
i 4

Fas g b
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i1

MNr-l x+1)

1o

Whach of the following 15 equavalent to the
expression above?

a ]
i)

C) —

o ——

The surfice area 8 of o cybmder with radius # and
height & s 8 = 2or” + 2orh, 1 the surface anes of
the cylinder is 207 and the height is 3, what i3 the

value of 7

A) 1

By 2

Cr 4

) 5

Ly o+ )
oy

&

The ratio for the kmetic energy between two objects
of mass my, and my before and after the collision is

mven above. Which of the following & equivalent 1o
the expression fur m 7

Ay =L
#
ot |
gy 2l
.llf_.
cy ™
R-1
p) -2
R

Sixi= xvax=10
Il Fi2)="0 o the quadratic fusction abowve, which
of thee Following masst be mue?
A} fi=5)=0
B} f(-2)=10
C) H=l)m=i}
Dy fin=0

15




daw+{da+ i =b-100

if i=y—1 inthe equation sbove, wirers a and b
are comstants, what is the valoe of 57

A} B
By 4
£) -3
D} -6

3 |

Esposite med to compate the average of his 10 math
seares, He mistakenly divided the correct t4al § of
his scores by 8. The result was § more than what il
should have been. Which of the following would
debermine the value of 57

A IDF=TE+5

218
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g
<TE{D,5)
! o
o D12,
If the slope of lne #r in the ov-plane above is L] lu the figure above, €} ig the center of the circle with
) 4
what is the ares of quadrilateral OECD? radius r, and the messure of & % Tadians. If the

lezgth of mmor are A8 &= Y, what 15 the value of
r"!l

Ullaire and Peter both want to buy new smart phones
Claire has already saved 100 dollars and plans to
save § dollars per week until she can buy the phone, m
Peter has 25 doflars end plans to save & dollars per
week. In how many weeks will Claire aml Peter have

: "o
saved the sume amount of money? In & certain class of 70 studeats, - O 1 atndenty
are boys, and the ratio of students 10 vears or older
r
to stwdents bess than 10 years s 2:3. IF é aof the girls

are less than 10 vears old, how many boys are 10
n . . years ald or older?
[ —h::l-.?:'? +ih=Sx4ee2=D

In the equation above, a, b, and ¢ are constants. If
the equation 15 true for all vahees of =, whit is the
valwe of a+ b +c?

STOP

If you finish before time is called, you may check your work on this section only,
o mot turm fo any other section in the test, 2218




[wiring 15 Labor Day sale, a store ndvertises that 530 K

will be deducted from every purchase over $200. In | £
addition, aficr the deduction is taken, the store offers
an carty-bird discount of 40% o any person who

makes o purchase hefore @ am, W Clvire makes a =
purchnse of & dollars, & =200, 3t 8 am., which of . g e
the following expresswms represents the cost of ler
puarchase’ In the figure above, lines ¢ and m are parallel.
-
A) DAk-16 lfl_'lhc_.lr:l'tﬂ:’l;ﬁt.nl'laﬂ 5 207 more than the measure
il ; 1
BY Odk— 4 o what 14 the meazare of 217
G =24 A) 15
D)tk =40 By 45
C) 55
Oy 75

On a map, 3 centimeters represents & kilometers.
How many kilometers are represented by -
I ocentimelers’

T =150+ 2w
Ad 3k Crassy plang to by a new computer, and plons to
" gave 320 each week for te mexl W weels, The todal
B} - amarant of money she saved is represented by the
ap eijeaiion above, where T s the toba] amount. Which
Tk of the following is the hest interpretation of the
8 -F namnber 150 in the equation?
D} Pk Aj The new computer costs 5150
3 B) She saved $1350 each woek.
') She wants 1o buy a computer when she saves
F15d0
D} She has already saved 3150 toward the cost of o
e COTmnsher

15

conue
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Duestions 5 and 6 refer to the following nformation.

Dog age(D) Dl2|4)6[8] |15

Hutnan age (HY | @ |10 20| 3040 (| &

The chart above shuws equivalent ages for dogs and
mumans. Hurmsan age is directly proportional to dog age.

Whoi is the valoe of 2+ 57

At 6
Hy 75
C) &0
Dy &S

Whach of the following graphs best represents the
relationship between dog and haman ages?

Al H B) i

Y, _J
A

/{} = [F
) H m B
& 1 w ¥ [

¥ QR

In the fraction IJT___:- g i 5 beus than two times B, If

i fnction 15 equal to l.'l'rhﬂt is the vahue of o

A} 15
By 2
) 23
[ 30

Tovler spent 6 dollars at an smmsement park for
adimizsion and nides. I e paid 510 for adomession, and
riclies coat B3 each, what 15 the maximum memnber of
ruclas hst e wen on’

Aj L

B 17

C1 18

Dy 20

SEETS
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For o school summer concert, one type of icket costs
55 and another costs 510, The supervisor of the concen
v el m o most HEF Dokels, ot the gross naceipts st
toal ot beast 53000 in onder for the concert to be held
Which of the following systems of inequalines could
represent this relatonshap?

Sx e L0y = SN
) 4+ 500
rzi
el
£ 10
-} l—-'EE{ID
o
[£7] ]x+_}-£3{h:m
xz0
=i
[ Fx+ 10y = 300
o x4 v = 5K
X221
g
Sx 10y = F0d
X+ v SN
O ]
] [ e |
y=0

Ifa hnear function f satisfics /(3) =10 and
FiT =18, whad ig the vadue of F(5)7

A) 12
Hi 14
) 15
) 16

v

Questiong 11 and 12 refer to the following
imformation.

X

A rancher has 100 feet of fEncing 1o enclose
rectanpular regon &5 shown pbove. The length and
width are represented by xand prespectively.

Whach of ihe folloenng expressions represents the
arga of the peclangular region 25 a lunciion of 7

A) 1005 - x*
B} S0r-x'
C) S0c+x
0y s0xt

I ke waboe of v 25, what 18 the area of the
rectangular reglon in sguare feet?

A) 325

) @25

C) 1250

Dy 25043

"' Lotk




Factory Workers over 60

Year Percent of Men | Percent of Women

%MD [ 5.6 3.5
S 236 LR

The table above shows the percent of men and
women Bl years and older who were working in a
certam factory in the U5, i the given years. If the
rate of inercass or decrease every vear is consiant.
which of the following represents the percent of men
aver 60 who were working in the factory in the year
20157

Al 264

B} 2172

C) 296

Dy 305

Mary is making a roctanghe whose peruncter is Jees than
1} inches. If the demensions of the recimngle ang
integers, what is the langest possible arca for the
reclangle in square inches?

Al oo

B} 625

C1 650

13) 800

A8

] I

I v

If ==3+2i 15w the first quadrant of the comples
mmber plane ahove, then which quadesnt contains

-

AY Quadrant |

B Quadrant 1
C) Ouadrand [T

P Cruaddesost TV

B
C
T I
4 . O p

vEl

In the figure above, A0 =Y and CD =1, What s
the leagth of AB 2

A) 2
B) 3

) 13
D) i

28215
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Questions 17and 18 refer to the following
information,

The ridindeer oF hacteria in a eonmollad abortory
environment {5 defined by the function
Fix)=1000 =5, where x is the lime in hours.
The graph of § & shown in the xp-plane below,
. |I..
16g=

Mumber of Bacteria
{ Thousands)

B 4 Ok OB
Py,

What 15 the valwe of 57

i) 1
By 2
C) 3
D) 4

What is the pumber of bacieria in 5 hours?

A} 27,000
By 32,000
C) 40000
D) 64,000

& schess] murse chose 50 girls from the seventh grode
and measumed thewr weaight, m pounds, shiown o the
table below:

Mensure of Weight | [requency
T 5
73 ]
78 20
L] Ly
RS 5
) 5

LE there is a toml of 300 fnirls in the =eventh grade,
what could be the possible number of girls in the
medinn measure of weight for the eatire grade?

A) RO
B} 100
C) 150
o) 200

;r: -2+ Ta 1]

The equation of a circle in the ap-plans is shown
ahove. What s the center of the circle?

Ay (L-I)
Hy (1, 1)
Cho (1, 1)
Dy (7,0

&5

oo 3
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The graph of line ¢ is abown in the Lp-plhane gbove.
Line minot shown) has the equation v = ax + b,
where a amd b mre constaams, If line m is

perpendicular to line ¢ and passes through point P,
what i3 the value of 57

A0

B -1

Cy -2

Dy -3

2% =54
In the cquation above, wihial s the value of 2* 7

Ay 4
B) B
C) 16
Dy 32

A4 i

X I
ﬁ‘ | =1z
3 |
» f.i
! = X
-3 i 1"&,. &
f

The complete graph of the fimction 7 is shown in
the xy-plane above, Which of following is true?
A} S0 | rion

By fizi<[riazy

Q) 3= (73

D) A=2)<|f(-2)

P = 5
[n the system of squations ahove, k is 8 constanlL
For which of the following values of & does the
system of equatkons have ne real solution?
AT 10
By 8.5
C) 5
[ —ikis

JE21E

[ comne 3
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In the figure above, £ and F ore the mid posnts of
two sides of & rectungle, [F the arca of ACEF is 10,
what 15 the area of the shaded region?

I

B 0

£) 15

D) 30

x=y=3
a1
In the equations above, what 15 the value of
N
A} 15
By 25
36
Oy 45

=

K1, 1

v
-

A(=3.-2)

B0 — 6)

In the xy-plane above, the figure shows the
coordinaies of poins A, 8, apd C of @ parsilelogram.

Which of the following are the coordmates of point
O

A} (3, 5)
B) (4, b)
6y {5.5)
D} (&, 5)

LN L
il

In the inequalilies sbove, what is the preates
possab e value of &7

A) —4
By -1
Ly 3

D) 4
AT215




It Gigure sbove shows a sgquare and an equikateral
triangle. ¥f the area of the tranghe is 253 square
inches, what is the arca, in square inches, of the
Siuare 7

A} 5043

H) 100

) 10043

Dy 125

N

450 — ,
R
400} + R
3 tolod 1
ST
=, | :
e R R T B S
i | 1
o W W
L P
- i

Pl
F S
iZh
L~ -]

L

Tlye graph above compares the distance with the
member of howrs that & car twaveled. Which of the
following is the sverage speed, in miles per howr, of
the car dusing the tme between 3 @i 7 howurs?

A} 50

B) 55

Ch 60

D) It cannol be determined from the given

il mimkion

215
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For questions 31-38, solve the problem and
enber your arswer In the grd, as described
bebow, on the answer shesl

it i —p
ezl

1. Although nod required, 1 & suggesed that
¥Ou wribe your answer in the boxes af the top
of the eolumns o help vou fill la the circles
accurately. Yoo will receive credil only i ithe
circles are filled in correcily,

2. Mark no more than ane crrcle in any column.

3. Mo guestion has o negative answer,

4, Some problems may have more than oae

5. Mixed numbers such a5 3 rvist be gridded

2
at 3 5or W2 W i epstered it dae

T
s
X

SIED

[ .II.H [
e £y 1 N -

gnd,ltmﬂt'-emhmwtm:m-g.m-ii I ﬁhﬁ”ﬁ Eﬁqpﬁq
DG G0
6. Decimal amswers: 1f you obtain o decimal hﬁi ﬁ".’ﬂ‘."'ﬁ' bﬁ“ﬁ“ﬁ'
anawer with more digng than the gnd con l'ﬂ di}dﬂﬁl Hiﬁ“ﬁ
accotmodate, it oy be erther rounded or hﬁ "' Hhﬁ“ﬁ'
iruncated, bur it must fill the entire grid ol [T Ral

fnswer; 201
Mote: You
may sart yous
anEWers 1l uny
cdelarrm, space
permmthng.
Cnlurmns you
don’t pesd po
use should be
Tt blank
asyz
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Jackie goes on a 3-mile bike ride evary Sundsy, He i the xp-plane, lna =2 ig the wxit of ot
rides the distance in 3 bours. At this rate, how many of the graph of f(x) =5 —Jx+ 2. What is the
rubes can he ride in 5 hour and 30 minwpes? wahuz af &7

The avemge of a set of ¥ congecutive odd integers is
18, What iz the greates: of these £ integcrs?

n ] : ' Twenty grams of solution ™ s 10% alcohol and 30
grams of solution 7 is 200 alcobol by mass, 17

4 these two solutions arc mixed wgether, what is the
BN EEEEE percent of aleohol in the sixnre? {Disregard te %
B sign when gridding your answer. |

-

e -,5‘._5_.

E....
|

The graphs of o lincar fanction | and o quadratic
function g are shown in the oy -plane above, 1T
figikp)=—3, what is the value of 'k |7

015
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=
In the figure above, a circle 8 isenbed in APOR, IF
F"'i._f: dand PR =4 what e the radins of the crcle?

4 |

‘Crmestions 37 nmd 38 refer to the following
bnformation.

The total cost of an meemet phone-call is the sum of

(1} & basic fixed charge for wsing the infernet
ard

{2) an adidwzonal charge for each msmse that is
=T

Thuz total cost of a 20 roaite-call o 824 and che ol
cost of & 35 minure-call is $31.50,
{ Disregasd the § sign when gridding vour answer. )

What is the basic fixed charge, in dollars, for using
the inrermne?

Whot 15 the fotal cost, modollars, of & $0 mimate-call?

STOP

If you Hnish before time is called, you may check your work on this section only.
Do not furn to any other section in the test.

41218



